
Techno Toy tuning  
ZzW30 Brake Kit  

Installation Instructions  

  

Packing List: 

 
2) Wilwood Calipers 

2) caliper Brackets  

2) Rotor Alignment Rings 

2) Brake Rotors 

2) Stainless Brake Lines 

1) Box Wilwood Brake Pads 

 

Hardware Kit Contents: 

 

Qty 2) 90-Degree brake line elbows 

Qty 4) 12-1.25x30mm Bolts w/ Lock washers  

Qty 4) 3/8-24x1¾ Socket Head Bolts w/ Milspec flat washers 

Qty 2) L Brackets for to hold stainless lines  

 



 

 

Once you have completely removed your factory brakes and have 
your bare hubs, you will be ready to proceed.  

(Photo Shown above) 

 

 



 

Install the as shown using the two 12-1.25x30mm bolts and lock 
washers. Torque to 60ft/lbs. 

 



Install the rotor alignment ring as shown. 

 

 



Install the rotor onto the hub assembly. Snug the lugs up by hand 
to hold the rotor in place. 

 

 

 

Slide the caliper over the rotor and align bolt holes on the bracket. 
Install the two 3/8-24x1¾ allen head bolts and milspec washers.   

Torque to 30ft/lbs.  

Remove the caliper retainer from the caliper, install the pads and re-install the retainer. 
Install elbow fittings into the caliper (2-3 turns past hand tight), install the brake lines 

and orient correctly so they do not rub or get pinched. Repeat the procedure on 
opposite side and bleed brakes. Clean well and check for firm pedal and no leaks. 

Install the wheels and you are ready to go!!!  

 



We Hope you enjoy the 
performance and aesthetics 

of your new techno toy tuning 
brake Kit! 

Any questions please e-mail 
us at  

Info@technotoytuning.com 

 


